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e ! el TFIRY (F O Me?’- @A 7’ JeE:

A. =73 f[{oeet B. sy

C. *mraa =@ D. w8l S

‘T e’ qgoa wid-

progress were limited to small areas, but in our time, the
new hazards are really widespread. Today's air
pollutions, for example, cover vast areas of the world and
can cause health problems for millions. )
01. According to the passa?e, modern transportation
A. reduces the number of wild animals
B. exposes passengers and drivers to radiation
C. causes biological disasters
D. increases the risk of diseases
02. The passage emphasizes that modern technology
A. is'an unmixed blessing )
B. has caused serious hazards to life
C. has produced powerful chemicals
D. has benefited highly developed nations
03. A 'beneficiary’ is someone who
A. benefits others  B. misuses benefits
C. benefits from an investment
D. derives advantage from something
04. Air pollutions now are )
A. widespread and short-lived B. not widespread
C. responsible for health problems
D. limited in their effect ) )
05. According. to the passage the increasing use of
fertilizers is responsible for
A. abundance of food )
B. disturbance in the ecological system
C. disturbance in the weather patterns
D. water pollution
Fill in the blanks with appropriate prepositions (questions 6-9):

06. Can you tell the difference butter and
margarine? ) .
A. over B. with C.in D. between

07. When she parted her parents, her eyes
were full of tears.
A. from B. to C.of D. off

08. Javed was ac?wtted the charge of theft.
A. of B. from C.on . about

09. The new gavernment took last year.
A.over — B.after C.upon  D.out

Fill in the blanks with appropriate words (questions 10-13)
10.. The art of cooking In ancient India.
A. is perfected B. will perfect
C. were perfected D. was perfected
11. The poor man said, 'l —————starve than beg.'
A.rather B.would C.would rather D. better di
12. The person who has committed such an ——
crime should be severely punished.,
A. uncharitable B. abominable C. unkind D. unworthy
13. He failed in the examination because his answers
were not: the questions.
A. revealing of . allusive to
C. referential of D. pertinent to
Choose the pair that expresses a relationship similar to the

A. TRGA B. W M C. ¢afw aife D. ©9
ATTIGT AW (I IF6DT 7?7

A. Ty B. 23t C. &fitsew  D. <
FAFART @ A @G

A. @l B. =G C. =R D. s
iy 8 BfeTe SIFR NLF @ “tw @ ~AfFefe 27?2
A. Rerael e fagn B. et ¢ fac<rad

C. o @ 341w D. feat 8 54qw
G *%0 (i Ol (AT aeE?

A =% B. T=fY C. e D. s=fd
TRAR MTHR ATRI=A (FN{6?

A T2+92 B.ozs+32 C.oR+32 D.92+9%

one expressed by the capitalized pair (questions 14-15):

Answer Keys: 1.A2.B3.D4B5A6.A7.C8.C9.B
1190.CD ZIOIAB 'IZ.C 13.D 14.D 15.A 16.D 17.D 18.D

ENGLISH

Read the passage below and answer the questions that
follow (questions 1-5): o .
The loss of environmental Tpurlt is the price that we pay
for many of the benefits o [

have cars and buses on our roads and highways, but we
risk suffering from smoke and dust-induced diseases. We

modern technology. We now

14, SAW : CARPENTER ]

A. Scissors : Barber B. Painter : Color

C. Cloth : Tailor D. Wagon: Farmer
15. EGG : OMELET

A. Rice : Curry B. Flour : Cake

C. Fish : Water D. Banana : Ice cream

16. Find the correct s?aellin T ]
A. Leftenant B. Lieutanent C. Leiutenant D. Lieutenant
17. Which sentence is grammatically correct?
A. Our printer's don't work too good.
B. | introduced him to one of my friend.
C. Coming back home he found his key not an
D. Ask for assistance from someone aroun

here.
you.

have to build factories and expand our cities, but in the
process our forest lands are shrinking which is reducing
our wildlife. Many countries use nuclear power, but there
is always the risk of radiation. By increasing agricultural

roduction with fertilizers, we pollute our water bodies.

he highly developed nations of the world are not only
the immediate beneficiaries of the good that technology
brings: the%/ are also the first victims of environmental
diseases that technolo%y breeds. In the past, the
mvlronmental effects which accompanied technological

18.
19.

20.

The synonym of ‘intrepid’ is

A. coward "B. indifferent C. arrogant D. fearless
The meaning of the idiom 'a dime a dozen' means
A. something common  B. something very rare
C. something we need  D. something very costly
The antonym of *harmonious’ is

A. discordant B. disrespectful C. amicable D. ruthless

Answer Keys: 1.0 2.83.04.C5.D6.D 7.A8.C9.A
TO—.D_ffClIZ.B 13.D 14.A 15.B 16.D 17.D 18.D
19.A 20.A




Accounting

it e BT ffresae afews faffs g

IEER | PR PR FEHT & @eqE e w2

(Padma Services has made the following errors in

its recording process. For which of these errors

the trial balance would not balance?

A. FHRE 898 (@7 3¢,000 BIFT (@S ©fq5 w4t
A= 0,000 B (TK. 15,000 paid to employees
as salary was debited to Salaries Account with
Tk. 10,000)

B. AWIER IR (ATF &I do,000 B Afeqmge
(Tk. 10,000 received from debtors was not
posted to ledger)

C. WFTCF &€ ¢, 000 BIF TPMA f&o1ed et zeaez (Tk.
5,000 paid to Maruf was recorded in the account
of Masud)

D. @RI emH 20,000 BF wawige =W (Services
provided worth Tk. 20,000 were not journalized)

et Ifeg=s? (When market price of material has

decreasing trend, Which method should logically
follow for issuing the stock?)

A. FIFO B. LIFO

C. e 1 “wfs (Weighted average method)

D. 4=l o1¢ *rafe (Simple average method)

93 FIHITTT I TSR vo SIfFTR 3,00,000 BFIFR

I @y 1 AHB A omEd o¢ Sifded

M e 2w @3k TemEm so wifiee @ s @

@3 79 I T/ | @G IFRS Sq@d swaffEewad

NS TFEd T | FAF H,00,000 FIF WS TR ICA

%97 T03? (A cloth store makes a sale of clothes for Tk.

1,00,000 on November 30. The customer is sent a

statement on December 05 and a cheque is received

on December 10. The cloth store follows IFRS and
applies revenue recognition principle. When is the Tk.

1,00,000 considered to be earned?)

A. fe=3 o¢ (December 05)

B. sitewq wo (November 30)

C. femm™a so (December 10)

D. fem== o> (December 01)

wiffe RTadt ege 4 =7 Fere: (Financial statements

are prepared mainly for)

A. Sreredld IR EImE & (internal users)

B. 3fzsg Iz & (external users)

C. fadrwswma &= (auditors)

D. s a9t &= (managers of the business)

ST (TR (@9 @t e T f$ @ w1? (Which

method of ¢ %%ng depreciation does not rely on time?)

A. RS (Straight-line method)

B. 315 w2 “mafs (Sum-of-the-years' digit method)

C. @i & #mie (Declining balance method)

D. Terimea s “fmfe (Unit of output/activity method)

fam Al weew R et @2 (Which of the

following is not a component of conversion cost?)

A. grer e (Direct materials)

B. @ g« (Direct labor)

C. #r S (Indirect materials)

D. =icars wgf« (Indirect labor)

e b T gt srpiivea g1 96? (Which of the

following results in a decrease in acid-test ratio?)

A. sgmatea e (Decrease in inventory)

B. &t w1tz 3= (Increase in accruals)

C. asiy 773ycza 3w (Increase in receivables)

lucc| D. e 3 Jfw (Increase in retained earnings)

10.

11.

12.

=

4.

&RfET Tgm W& vo,000 BIFT; &F {,00,000 BIF; REw

3,00,000 BFl | R@EER B w 0% TCEA AT

wgaa e $9? (Opening stock Tk. 30,000,

Purchase Tk. 2,00,000, Sales Tk. 1,00,000. If

profit on sales is 25%, how much is the value of

closing stock?)

A. 3,90,000 B (Tk. 2,30,000)

B. 5,090,000 B (Tk. 1,30,000)

C. »,&e,000 B/ (Tk. 1,55,000)

D. 3,00,000 Bl (Tk. 2,00,000)

T QBRAZCEA (w7 @ Aies 7w [77d tefavs

e @ w1? (Which of the following items of

jamuna Enterprise will not have any effect in

preparing bank reconciliation?)

A. ARRENAT T 20,000 B (Deposits-in-transit worth
Tk. 20,000)

B. wie s¢e Afceifde sievmia @RE THFS 6T
0,000 Bl (Issued cheque worth Tk. 10,000
paid by the bank)

1 ST BIEt oo Biw (Bank service charge of Tk. 500)

D. SIS ¥ 2,000 B (Depositor's error of Tk. 2,000)

mamE AT efdn T Rl wee [y 5t wg e

witF I =F- (Seller allows some discount when

receiving the amount from debtor, is called-)
51 181 (Bank capital)

B. @ws 281 (Sales Discount)

C. ene 3181 (Purchase Discount)

D. =<1 et (Trade Discount)

wFea 4i¥ =2¥ e ©27? (On which is income tax

levied?)

A. J1eta ©ofF (On capital)

B. S5@@ 2@ (On expense)

C. 3™tm= T (On asset)

D. =ieaw ©@ (On income)

e b s swER wiEmR gwes =8 1?2 (Which

one of the following does not require an adjusting

entry?)

A. 53w @ w1 (Prepaid insurance)

B. a3 995 (Accrued expense)

C. w=v3 (Depreciation)

D. siférs =3 (Earned revenue)

ey fficres 6 FEFR TAGT 80,980 BT

@A BeIfs Sgaite 2& ¢:2 | 5eIfS F=oimma «ffsie @3

391 (Denim Limited has net working capital of

Tk 40,740. The current ratio of the company is

5:2 Determine the amount of current assets)

A. 3,80 B (Tk 11,640)

B. 29,50 5=l (Tk 27,160)

C. 35,500 511 (Tk 29,100)

D. va,500 B (Tk 67,900)

TR IR wwre @ @A Wi 8 ifeEreR

Afnet feT TNFE v,¢0,000 BT 8 3¢, 000 BIF | TH

TR T =@ @ﬂ“"ﬂﬁ?’l‘”ﬁﬁ"fm 3,00,000 BIF! 8 WiF

ZA AW 3,00,000 BIF | WAFHIETG TS W

@ T 9 T A3 T @A W6 gww I N6

wfex offmd F©? (At the beginning of the

accounting year, the liability and owner's equity

of a company were Tk. 6,50,000 and Tk. 8,25,000

respectively. During the year, the assets increase

by Tk. 2,00,000 and the liabilities decrease by Tk.

1,00,000. If there is no other transactio




15.

16.

17.

18.

19.

20.

affecting the owners' equity, what is the amount

of net profit or net loss during the year?)

A. 5 7= 3,00,000 517 (Net profit Tk. 1,00,000)

B. 75 =fs 3,00,000 B (Net loss Tk. 1,00,000)

C. 5 3@ v,00,000 B (Net profit Tk. 3,00,000)

D. f5 =fs v,00,000 B (Net loss Tk. 3,00,000)

A @ ww Rdr @3 MwRrwet? (Which of
the following is a limitation of an income
statement?)

A o @@ el v wew Sl wiw (It is very
difficult to prepare an income statement)

B. sy frwdl =ifes wrepe wifSat (It is very difficult to
audit an income statement)

C. fog 9 W3R ARfs o9yl FAfdwera wAfawiel w1 @m =1
(Some expenses and provisions cannot be
estimated correctly)

D. cRimeR@Ree R [e@dice kit s@w w1 (Shareholders
do not believe the income statement)

R et 5w fdi=eet: (In determining cost of goods sold)

A 6 @@ @@ @@ A8 Iw @3 =@ (Purchase
discounts are deducted from net purchases)

B. % @wreaw Mt Afresifia= <96 @l Fa1 =7 (Freight-
out is added to net Purchases)

C. 7% @ (3tF & s Im @7 =¥ (Purchase retutns
are deducted from net purchases)

D. 6 @@w Mt weseifiies @i w1 =7 (Freight-in is

added to net purchases)

wiffe e ey F99 & 39S W= 2@ (The
standards that are used in making financial
statements universally acceptable are)

A. GAAP B.GAAS C.IFRS D.GAAT

I arafes Sgm =iy, ST Tgm A @R K@ o=
[ IS 8b,000 BIFT, YR,000 BIF! 8 ,80,000 BIFT
7 ez Rewwen oo 3w ¥9? (If opening
inventory, closing inventory and cost of goods

sold are Tk. 48,000, Tk. 62,000 and Tk. 1,40,000

respectively, then what is the amount of cost of

goods available for sale?)

A. 3,03,000 B3l (Tk. 2,02,000)

B. 3,¢8,000 511 (Tk.1,54,000)

C. »,b,000 B3 (Tk.1,88,000)

D. 5,329,000 5= (Tk.1,26,000)

@4 cetweas w12 (Which one is not a transaction?)

A. Jifce W= @ w41 =T (Purchased goods on credit)

B. WM (@91 o/ So% R ORbH 4 51 201 (Depreciation

is charged at the rate of 10% on the building)

C. 9® WCW (@oq Jeq« W ewe Fa zeen (Last

month's salary is paid in the current month)

D. ¢ I2@d TR @ I2F [fE qooo TIF FW 2R

(Sales have declined by Tk. 7000 compared to that

of the last year)

e @A erere wafere tefige Fom eR Readfics

@At =82 (Which of the following is reported on

a cash flow statement prepared as per direct

method?)

A. SRR Rezefrs =fs (Loss on sale of furniture)

B. ifste @i i@ (Goods sold on credit)

C. w3 (Depreciation)

D. swRareFi|ics w°w 2w (Cash payment to suppliers)

Answer Keys: 1.A2.A3.B4B5D6.A7.B8.C9.B

10.B 11.D 12.D 13.D 14.C 15.C 16.D 17.C 18.A

19.D 20.D

10.

Management

AR HifEwt oteR s «ivt =ee: (The highest step in
the need hierarchy theory given by Maslow is:)

A. =9-9fe (Self-satisfaction)

B. sw-efedt (Self-actualization)

C. =rg-7=1+ (Self-esteem)

D. =1 (Self-confidence)

‘M emad o @ AN fm R @F F?
(Who is the author of the famous book titled "The
Wealth of Nations'?)

A. eI (6%=7 (Frederick Taylor)

B. a7 5o+t (Henry Mintzberg)

C. «orx fe (Adam Smith)

D. &=fa @ea1 (Henri Fayol)

@ FIOIC FreA (T ARA 2 T ©eF — I | (The
structure that creates dual lines of authority is
called —))

A. srereg (bureaucracy)

B. @G 1o (matrix structure)

C. s erdw (virtual organization)

D. sii=e Fo1en (Simple structure)

GFGS JILAF (@ NRAF @AM ARG Faq ©lF
ARATE — 36 | (The number of subordinates that
a manager directs is called —)

A. rered & (leadership web)

B. s @< (unity of command)

C. snmee *22e (chain of command)

D. FyEee® «f= (span. of control)
RemzfeR Mewa 9=z s_fges? (BRDB is located
at which of the following cities?)

A. 3wwl (Bogra) B. 3fm@i (Comilla)

C. 5= (Dhaka) D. e (Rajshahi)
MBO @z =éf&et zzet — (The full form of MBO is—)
A. Management by Operations

B. Managing Business Operations

C. Managing Business Objectives

D. Management by Objectives

©% ©g-93 276F &? (Who is the proponent of the
"Theory Z'?)

A. @ TfgS (b= (F W Taylor)

B. &fs @& ¢?%% (Henry L Gantt)

C. T3fera f& 31 (William G Ouchi)

D. aifs 7<= weas (Mary Parker Follet)

@6 s=ifds @zt 71?2 (Which one is NOT a non-
financial motivation?)

A. visfaa fierel (job security)

B. sitwifs (promotion)

C. sitea TR (performance evaluation)

D. simife s€mt (social status)

a6 efSditaa FRwE wwgsd 77w geer: (The most
important asset of an organization is:)

A. =g (money) B. =< s\ (human resource)

C. % (land) D. y=i4= (capital)
FJRIZAFT (T B RAT® 7wFel AIGE QM e
7x? (At which levels of management is conceptual
skill mostly required?)

A. 75 3 (Mid level)

B. f<&w«y %= (Lop level

C. Twwyy ®a (Upper middle level)
D. Tw %7 (Top level)




11.

12.

13.

14.

15.

16.

17.

18.

19.

20

e @ wfEt o3t @ Soedd IR
f# eeres =7? (Which of the following documents is
mostly used for internal administration of a
company?)

A. =l =@ (Prospectus)

B. s==sif siiew (Government Order)

C. #fzes= fqzmiafar (Articles of Association)

D. =iffewe 9= (Memorandum of association)

@ wFellt e &7 JIFINIFE & AN TS ?
(Which skill is equally important for all managers?)
A. Fifasifz (Technical)

B. @t (Communication)

C. gis=1=s (Conceptual)

D. =< ==& (Human relation)

IR T @ vl ewems 772 (Which document
is NOT necessary for Export?)

A. Jifafesss vre erspiftrs v (Consular Certified Invoice)
B. if~ s (Export Invoice)

C. w-3r=1@ (Marine Insurance Policy)

D. srenf af*w (Bill of Lading)

— == Rfeg Reg (e wdies o et FEiva afet |
(—is the process of selecting the best alternative
from different alternatives.)

A. “fszgat (Planning) B. 71z (Organizing)
C. fra® a=et (Decision making) D. 5= (Coordinating)
e @ 2¥fem ammw? (Which of the following
is a hygiene factor?)

A. Ffogrem (Achievement) B. Fi5fs (Recognition)
C. e+ (Salary) D. e (Growth)

fAwr e IRFAR T 79?2 (Which one of the
following is NOT a function of management?)

A. #fsg=1 (Planning) B. 7gw (Leading)

C. setd= (Organizing) D. =1 f&i=er (Pricing)
“Seefae Fite FfAwe Faw-Nife g Fae T, @3
Tifefs & facaeea? (“"Specific rules and regulations
shall be used in organizational work', who gave
this principle?)

A. T e[ (Max Weber)

B. e %=1 (Henri Fayol)

C. g% ©fgS (b= (F.W. Taylor)

D. @=15+ sy (Elton Mayo)

e Wl Iece (@[E- (Technical skill means-)
A. fowiz sl (thinking ability)

B. 1% Aiewr® @i (task related knowledge)

C. s1wiférs eI (social knowledge)

D. sitafs w9 (economic knowledge)

e @ g/ Afwgm? (Which of the following
is a standing plan?

A. 3itst (Budget)

B. &% (Project)

C. 3d== (Strategy)

D. fie= ceniar (Special program)

. @R gfo IS MigRe TR NGIS! AN I —

W™ @R g 911 (The interim period between two
annual general meetings of a company should not
exceed — months)

A. 53 7 (12 months) B. se 5 (15 months)

C. st T177 (18 months) D. v 777 (6 months)
Answer Keys: 1.B2.C3.B4.D5.C6.D7.C8B9.B
10.D 11.C 12.B 13.A 14.C 15.C 16.D 17.C 18.B
19.C 20.B

10.

11.

Finance and Banking
7 I wNee Ry a9 @reE? (Which of the
following is a technique of financial analysis?)
A. sTeozm e (Break-even Analysis)
B. s°w &=z fieswe (Cash flows Analysis)
C. Y14 =meerio: (Capital Budgeting)
D. PifeefafG Resa (Security Analysis)
@ I FIF e @3 @ I I ©ItE 4 =7- (The risk
that is firm specific and can be minimized is called)
A. I3 % (business risk)
B. SPiebefB< i (unsystematic risk)
C. wif¥s i (financial risk)
D. Pesfbs fs (systematic risk)
far = Ffafegs I 71? (Which one of the
following is NOT a commercial banks?)
A. “@t 513 e (Palli Sanchay Bank)
B. S ayiis (Woori Bank)
C. 3w 51 (Shinanto Bank)
D. @fm w1 (BASIC Bank)
e @E = IgR Seey w1? (Which of the
following is NOT a goal of finance?)
A. At sifez=e (profit maximization)
B. m=m ifs=el (wealth maximization)
C. =repi sdifezae (dividend maximization)
D. /&4 (cost minimization)
AT TIFE TS AR NG I ;T 90
wre@ad @2 (By which o order insurance
business in_ Bangladesh was nationalized by
Bangladesh Government?)
A. 5595 (1971) B. s»a3 (1972)
C. »5q9 (1973) D. »5a8 (1974)
e I Fifsefitee o witmr sfsw= qweR? (Which
of the following security has voting right?)
A. g9 e (Ordinary share)
B. feaiw (Debenture)
C. 3= (Bond)
D. swifes@ o= (Preference share)
@ WFs Iece Jt 3F? (What does a bull market
meagg
A. «f wfifse are= (an unpredictable market)
B. «sfb ¥ Syt I (a market with rising price)
C. «3f5 wrefifes ¥on “faeaaa qrea (a market with
high price volatility)
D. @35 siwz s (a cattle market)
R @ semiba e s ¥W? (Which of the
following asset has least liquidity?)
A. 75w (Cash) B. uzfeerz (FDR)
C. @=Ii5trs (Apartment) D. <@ (Bond)
@R I cFEm wesReR e aw@es T@? (For which
insurance the contract of indemnity is not applicable?)
A. =fd= (Fire Insurance)
B. &<=arsi (Life Insurance)
C. @-3i=1 (Marine Insurance)
D. ==t (Crop Insurance)
e @i e afediv s age w@ 91?2 (Which
of the following type of institution does not
accept deposit?)
A. Tz 271F (Development bank)
B. = s (Cooperative Bank)
C. 3ifdfess ams (Commercial bank)
D. ffacae <51 (Investment bank)
® = 2 (What is bridge loan?)
A. SRS FgeRim #e (Interim short term loan)
B. #rdermife et (Long term loan)
C. ==f% 49 (Mortgage loan)
D. &w tefasw way e (Loan for constructing bridge)




12.

13.

14.

15.

16.

17.

18.

19.

20.

ez @t wick m wiweRR? (Which of the
following is a cash inflow to a firm?)

A. &=y fasmet (Decrease in bills receivables)

B. =y fe=r g (Increase in bills receivables)

C. ey szt (Decrease in bills payables)

D. gmw e (Decrease in interest payables)
fr Al Ry vl Twead w1? (Which
one of the following is NOT an example of
negotiable instrument?)

A. T & fEB 37 (Bank credit card)

B. @i ures (Bank draft)

C. 1% 5 (Bank notes)

D. iz < (Bank cheque)

@ A s A4 Br? (Which is the main
source of bank fund?)

A. sfaeeifee egw (Raid-up-capital)

B. ifees wzfer (Reserve fund)

C. @31 Fieea #et (Borrowing from the Central Bank)
D. wrse (Deposit)

A VIR CFGa JILFA (36 w19 el wifys
sigmarw? (Which one of the following is most
preferred by a bank as security of loan?)

A. gse@ (Letter of credit)

B. eiw (Share)

C. =@ wiwees 3w (Fixed Deposit Receipt)

D. ¥9%@ (Debenture)

e @A T @6 fZerea sty =a? (Which one of the
following notes is regarded as government note?)

A. o0 5= (Tk. 100) B. so B (Tk.10)

C. @o 5= (Tk. 50) D. ¢ =l (Tk.5)

@3B AW 5,00,000 B REET T FA-7=38f 6
TAIFT 3,0%,¢00 BT e I G2 93 AFER FIA =4S
(B S5 8,uY,200 BIF | AFFHA oM A2 92 (A
project yields a net profit after-tax of Tk. 1,32,500
from an investment of Tk. 9,00,000 and the total
depreciation of its fixed assets is Tk. 4,66,200.
How much is the cash inflow of the project?)

A. e,5,900 B (Tk. 5,98,700)

B. ©,99,900 5= (Tk. 3,33,700)

C. 0,93,¢o0 51 (Tk.10,32,500)

D. 8,99,r00 5 (Tk. 4,33,800)

1? (Which one of the following account does not

provide any cheque book?)

A. Z1=%3 (Savings) B. =& (Fixed)

C. far= veife (Special current)  D. veifs (Current)
fwn @ @3l Foh wifds e i sa? (Which of
the following leads to financial risk of a firm?)

A. 7% 25 (Issue of bond)

B. ¢ 235 (Issue of common stock)

C. 3 ifse=niy (Redemption of bond)

D. exfe= #fcae (Change in technology)

e e PRl aem Rfe =1 ax faRs ey
sifaeifes =@? (Which of the following security is
sold at discount and redeemed at par value?)

A. @9 o9 (Bonus share)

B. @i et (Treasury bill)

C. waifyssia e (Preference share)

D. =125 @« (Right share)

Answer Keys: 1.B2.B3.A4.C5B6.A7.B8.C9.B
10.D 11.A 12.A 13.A 14.D 15.C 16.D 17.A 18.B
19.A 20.B

10.

Marketing
Ffeorm sty © , Y CIOTET QISR
Ie I, G2 (Ofe! @I IR @y [, 992 @R

IR NG ASTES FA 2, AL GF2 o7 AR
Y “TY, wIts 90 - (A group of products that are
closely related because they function in a similar
manner, are sold to the same customer groups, are
marketed through the same types of outlets or fall
within %%iven price ranges is called.)

A. @3 wifq (Product Line())

B. #ey e (Product Mix)

C. @5 @& (Product Class)

D. #1oy sz« (Product Assortment)

fae @I cotettra ex Ao oo sjfEe g9y
of{ #eq F@? (Which of the following is a key to
building long-term relationships with consumers?)
A. #teiw ¥ 397 (Low price of the product)

B. cerel 1@f® (Customer satisfaction)

C. arares s« (Need recognition)

D. wifgs et (More advertising)

G Fem wiet? (Telemarketing is a part of?)
A. grep® WRfoe (Direct Marketing)

B. 3% Witzf5: (Relationship Marketing)

C. 9wife @G (Social Marketing)

D. oizare It (Viralil}./ll_%rketing)

@ AIRIT TANYAF OIS FIE fefers (et At Rrare@ =%
T IF AT FHIM F=Ag e [Fg A W @ w
1 ot - (A wholesaler who represents buyers
or sellers .on a relatively permanent basis
performs only a few functions, and does not take
title to goods is called-) .

A. wisiet (Broker) B. wui< &3 (Rack Jobbers)
C. gtsrs (Education) D. site531 (Merchants)

e @ sien-Rewe Refesaan Sawma T1?
(Which of the following is not an element of
demographic segmentation?)

A. G774 (Lifestyle) B. ¢#=i (Occupation

C. @1 (Education D. 351 (Age)
T QI 5L (T TR (ol &lfe 476 TE ™ =02 (At
which stage of product life cycle the cost per
customer is the highest?)

A. 7% 3 %7 (Product Development Stage)

B. 3+ %< (Introduction Stage)

C. #i¢fel &= (Maturity Stage)

D. #re %1 (Decline Stage)

Rmgters, PTere @3 FRIMA @I R/ ISR A2
(Schools, hospitals and risons are the
components of which market?S)

A. corel s (Consumer market)

B. s==ifs dreis (Government market)

C. aifeifis arera (Institutional market)

D. 3518 Jres (Micro-market)

MeFBr cweimna & fsa @iaf 7@ s@? (Which of the
following does marketing create for customers?)

A. @i (Service) B. 79y (Product)

C. @51 (Value) D. wifeees| (Experience)
*1y Beotme ¢ @™ &= ez @=fG? (Which one
is essential for production and selling?)

A. siwwifes saarz (International Supply)

B. srE« w25 (Market Information)

C. g% vifemt (Local Demand)

D. pf® (Contract)

TI-REER NGW @9 @0 Soiet 332 =1? (Which
type of utility is created through buying-selling?)
A. g=ers Toraiel (Place Utility)

B. smsare Seigaiel (Time Utility)

C. w=iere Toreaie (Form Utility)

D. wiferssietare St (Possession Utility)




11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

"o WigEe Rawee e [qre v, vw@ Wa I
TR @ IR NG Ae”-afb v =i Snge?
gMany people want to buy BMW cars, but only a

ew are able to buy'-Which of the following is an
example of this?

A. vifzal (Demand) B. sifesee! (Experience)
C. w7 (Want) D. e (Need)

Reteita 4w & @2 (Which one is the basic
function of advertisement?)

A. =51gw (Employment)

B. srfees¢9 (To inform)

C. fitgiaz= (Industrialization)

D. &= Fi@r i (Improvement of standard of living)
“CEFO @ T A AW G TF FAE ROTR Q@INT
I GIR N T (Foiod ¥ Fvor Wg"— «fb
&1 Reas g 3= $2017? ("Buyer will buy those
products which are available and affordable'.
Which marketing management philosophy holds
this principle?)

A. Teome rsam (Production Concept)

B. #ay eaw (Product Concept)

C. &= swrsam (Selling Concept)

D. fa7ia= srsam (Marketing Concept)

e @ “Emeaw” star@ Sweaa? (Which of the
following is an example of "'Impulse’ Product?)
A. wigsrfe (Ice Cream)

B. =@ ce=1 (Hair Oil)

C. f¥re =1 (Child Vaccine)

D. =tttz 1t o141+ (Bath Soap)

ea @E AR AR Somis e Rwfve 737?
(Which of the following is NOT considered to be
an element of marketing promotion?)

A. @r#s (Advertising)

B. #fs==a (Transportation)

C. R@ra 3= (Sales Promotion)

D. 2t caeicaret (Public Relations)

wigfas Redm &% &? (Who is the father of
Modem Marketing’.g

A. 5= g (Peter Drucker)

B. fwfei#l wGe1iw (Philip Kotler)

C. o sarerrE (Lester Wunderman)

D. sigr=w wievest (Abraham Maslow)

wenes Retee@ et @WB?  (Which one is a
problem of online marketing?)

A. cit7iarret @ (Disclosure of Secrets)

B. w413 74ifEa e[ (Lack of Middlemen)

C. 3f&s 53 (Increased Cost)

D. ifire et (Limited Buyers)

@ W@ @erm w2 @H? (In which market
buyers are large in number??<

A. ot e (Consumer Market)

B. 35==1w s (Business Market)

C. si=ifa arer= (Government Market)

D. siwwifes arei® (International Market)

wFifte ) REER & ITTERSIAEAR (FF TSIMms
Teige? (Which marketing concept is appropriate
for selling unsought goods?)

A. =97 7sam (Product Concept)

B. Ireerssae oM (Marketing Concept)

C. Sesiims reqw (Production Concept)

D. fa== wrsam (Selling Concept)

Rt o e @iq Reafs eeres w@? (Which of the
following aspects is NOT applicable to advertising?)
A. TR @eieae (Face-to-Face communication)

B. t7&ife= ©orgi=iai (Non-Personal presentation)
C. 3fsz s (Paid media)

D. fofze Swasre (Identified sponsor)

Answer Keys: 1.A2.B3.A4C5A6.A7.C8.
%88 ZlolAA 12.B 13.A 14.A 15.B 16.B 17.D

C9B
18.A
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